22070

REfIHE
i - SUS303 - EAIRF

HALDER TOHATSU

503
NG $HF SBE
Lz B =] [rabid mE
il P | =mep(b R
SUS303 - SUS303 a1t PN i
i | HERIE|) | RmEEE s R2E
-
[Bpss -
R
T B
o ERNANARARANA 'T'*'} =} <
‘ E L
| D
C
HEN) | ___

S5k fEsx A |B|lc|D|E|F|G|H|WS[F]|F gf BERE | B
22070.0408 M10x%1.5 40 35| 8 1.4 | 25 78| 1.5 3 6 16 13 [22070.0830
22070.0412 M12x1.75| 55| 43| 10 | 2.0 95| 2.7 4 4 18 22 122070.0832
22070.0430 48 | 10 7 24 47
22070.0432 10 15 42 52
22070.0436 58 | 15 9 33 54
22070.0440 e 20 4 23 55
22070.0442 | i 83| 20 35 11| 43| 71
22070.0444 SfHT 8 M16x%2 8.0 o 25 130 1341 3.2 6 B al ol 22070.0834 ——
22070.0450 30 13 47 83
22070.0452 118 | 30 24 | 110 91
22070.0455 148 40 13 63 | 117
22070.0460 50 7 43 | 117
22070.0480 M24 %3 10.0| 60| 15 45 1196 3.7 8 14 87 | 132 |22070.0838
22070.0508 M10x1.5 40 35| 8 1.4 | 25 78| 15 3 12 22 13 [22070.0830
22070.0512 M12x1.75| 55| 43| 10 | 2.0 95| 2.7 4 7 46 23 122070.0832
22070.0530 48 | 10 10 43 47
22070.0532 10 14 84 54
22070.0536 58| 15 10 57 55
22070.0540 PNz 20 35 8 33 55
22070.0542 BEE M16X%2 80| 83| 20 30 134\ 3.2 6 18 12 72 |22070.0834
22070.0544 o8 25 ' 20 70 82
22070.0550 30 20 80 83
22070.0555 148 40 21 | 113 | 121
22070.0560 50 13 75 | 121
22070.0580 M24 %3 10.0| 60| 15 45 1196 3.7 8 24 192 | 134 |22070.0838




|

22070 AE {itE HALDER TOHATSU
$ - SUS303 - BARF
FAIE(N) -
ok Bt A B/ C|D|E|F|G|HI|WS|F]|F Egg ERIRE |EF
22070.0208 M10x1.5 40 | 35 8 14125 |78 |15 3 6 16 13 122070.0830| A
22070.0212 M12x1.75| 5.5 | 43 10 2.0 95| 2.0 4 4 18 22 |22070.0832| A
22070.0230 48 7 | 24 | 47 A
22070.0236 o |15 9 | 33 | 54 A
22070.0240 /—[\fﬁ@mgg 20 15 4 23 | 55 A
22070.0244 CES M16x2 8.0 o8 25 30 134 30 6 41 81 |22070.0834| A
22070.0250 0|7 : 13 | 47 | 83 A
22070.0255 40 63 A
22070.0260 18 50 7 a3 | Y A
22070.0280 M24 %3 10.0| 60 15 45 | 19.6 8 14 87 132 |22070.0838| A
22070.0308 M10x1.5 4.0 | 35 8 14125 |78 | 15 3 12 22 13 [22070.0830| A
22070.0312 M12x1.75| 5.5 | 43 10 2.0 95| 20 4 7 46 22 |22070.0832| A
22070.0330 48 " 43 47 A
22070.0336 o |15 57 | 54 A
22070.0340 | riEsma~pe 20 35 8 33 55 A
22070.0344 | EWE | M16x2 8.0 o 25 20 134 20 6 | o |70 | 81 |220700834] 2
22070.0350 0|7 : 80 | 83 A
22070.0355 40 21 | 113 A
22070.0360 148 5o | 75| Y ~
22070.0380 M24x3 10.0| 60 15 45 | 19.6 8 40 192 | 132 |22070.0838| A
22070.0610 80 11 17 34 69 .
22070.0612 120 | 21 21 | 81 | % .
22070.0614 - M16x2 7.3 150 | 31 3.0 | 35 134 3.2 1 9 117 22070.0834 —
22070.0616 | (F=EEHGRIE) 200 | 41 8 16 80 149 .
22070.0630 | HEWE 130 | 21 80 | 214 | 211 :
22070.0632 M22x2.5 9.0 168 | 31 | 40| 50 [19.0] 3.5 70 210 | 278 |22070.0836 .
22070.0634 226 | 41 76 208 | 358 .
A PE=E (Ex. ] 75 A .
- ANEERAERIRE (I AR IR ‘ 22070.0408 A
- JFREIR(EARE-30°C~ il
+90°C ==
AR AT A BRIMAX.250°C =
- BRIRFESEAET §§
- IN=0.101972kgf —
- S E IS T BB ==
=
B | =
- B BT BEMEESR =



